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MODEL QUESTION PAPER —12024

CLASS: XII MATHEMATICS MARKS:90

| CHOOSE THE CORRECT ANSWER 20X1=20

1. If ATAlis symmetricthen A> = a)A! b)(A")? ¢)AT d)(AY)?
2. If A, Band C are invertible matrices of some order, then which one of the following true? a) adj A=|A|A?
b) adj(AB)= (adjA)(adjB) c) det A= (detA)* d) (ABC)*=C'B*A?
3. If zis a complex number such that z€ C/R and z+§ €ER,then|z|is a) 0 b) 1 c)2 d)3
ci525—87r is equal to a) cis(- 2?”) b) cis(z?n) c) cis(%n ) d)cis(- 3?71 )
According to the rational root theorem, which number is not possible rational zero of 4x’+2x>-10x3-5?
a)-1 b)5/4 c)4/5 d)5
6. Thevalue of sin-1(cos x),0< x < mis a)m-x b) x—g c) %— x d)x-m
The locus of a point whose distance from (-2,0) is 2/3 times of x at (3,0) passing through the line x=-9/2 is a) a parabola
b) a hyperbola c) an ellipse d) a circle
8. The number of tangents to the circle from inside the circle is a) 2 real b)0 c) 2 imaginary d) can’t determined
9. Distance from origin to the planes 3x-6y+2z+7=01is a)0 b)1 c)2 d) 3
10. Ifd and b are parallel vectors, then [&,E 6] isequalto a)2 b)-1 ¢)1 d)0
11. The maximum value of the function x?e?, x>0is a) 1/e b) 1/2e c)1/e? d)4/e*
12. Angle between y?=x and x?=y at the origin is a) tan-1 (3/4) b tan-1(4/3) ¢) % d) g
13. The percentage error of fifth root of 31 is approximately how many times the percentage error in 31?
a)l/31 b)1/5 ¢)5 d)31
14. The value of f_zl |x| dxis a) % b)3/2 c)5/2 d)7/2
15. The area between y?=4x and its latus rectum is a)2/3 b) 4/3 c) 8/3 d) 5/3

16. The solution of differential equation ZXZ—z— y=3 represents a) straight line b) circles c) parabola d) ellipse

17. Integrating factor of the differential equation Z—i/ :% is a) xl: b) x+1 ¢) ﬁ d)vx+1

18. A random variable X has binomial distribution with n=25 and p=0.8 then standard deviation of x is
a)6 b)4 c)3 d) 2

19. If a compound statement involves 3 simple statements, then the number of rows in the truth table is
a) 9 b)8c)6 d)3

20. The operation ‘= ‘is binaryon a) N b) Q\{0} c¢)R\{0} d)Q

I ANSWER ANY 7 (Q.NO.30 IS COMPULSORY) 7X2=14

21. If Ais symmetric prove that adj A is also symmetric.

22. Find the square root of -6+8i

23. If y=2/2 x+c is a tangent to the circle x2+y?=16, find the value of c.

24. Ais acted upon by the forces 37 -2f +2k and 27+ -k is displaced from the point (1,3,-1) to the point (4,-1,4) . If the work

done by the forces is 16 units, find the value of 4
X

25. Evaluate lim
x—o0 logx

26. If the radius of a sphere with radius 1cm, has to decrease by .1 cm, approximately how much will its volume decrease?

27. Evaluate f01x3 (1—x)*dx

28. The probability that a certain kind of component will survive a electrical test is %. Find the probability that exactly 3 of
the 5 component tested survive.

1 0 1 0 0 1 0 1
29. LetA={0 1 O 1| B=f1 0 1 0] betwo Boolean matrices of the same type find AV B
1 0 0 1 1 0 0 1

30. If cot? 2 and cot™? 3 are the two angles of a triangle, then find the third angle.
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Il ANSWER ANY 7 (Q.NO 40 IS COMPULSORY) 7X3=21

AL show that ATt =

32. If |z|=2 show that 3<|z+3+4i|< 7

33. Find the domain of cos™ (Hzﬂ)

34.1fd=1+4+2+3k, b=21—j+kand =31+ 2j + k andd X(b X &)
35. Prove among all the rectangle of the given area square has least perimeter.
36. Let u(x,y) =e® cos2x for all (x,y) € R? prove that u is a harmonic function in R?

coS2x —sian]
sin2x  cos2x

2 2
37. Find the length of latus rectum of the ellipse z—z +ZT =1

38. Show that y=mx+% , m# o is a solution of the differential equation xy’+ 7% -y=o0

39. Construct the truth table for (pVq) V—q
40. Find the exact number of real zeros and imaginary of the polynomial x® +9x’+7x°> +5x3+3x

IV ANSWER ALL THE QUESTIONS 7X5=35

41. a) By using Gaussian elimination method, balance the chemical equation CsHs+0; = CO+H,O (OR)
(b) cosx + costy + cos™ z = and 0<x,y,z<1 show that x*+y?+z2+2xyz=1

42. a) find the cube roots of unity. (OR)

x2+y? ov -1
x+y ay -

b) if v(x,y) = log prove that xZ—Z +y

43. a) solve x*-10x3+26x2-10x+1=0 (OR)

d
b) solve d—z+ 2ycotx = 3x*cosec?x

1

44. 3a) Evaluate lim (1 + 2x)2lesx (OR)
X— 00

b) Find the parametric, non parametric and cartesian equation of the place passing through non collinear points (2,6-2),
(-1,-2,6) and (6,-4,-2)
45. a) Identity the type of conic and find the centre, foci, vertices and directrices of 9x?>-y2-36x-6y+18=0 (OR)

b) Suppose that f(x) given below represent a probability mass function find (i) the value of c (ii) Mean and variance

X 1 2 3 4 5 6
f(x) (oo 9c? 3¢? 4c? c 2¢

46 a) Show that the straight line x+1=2y=-12z and x=y+2=6z-6 are skew and hence find the distance between them (OR)

b) Find the area of the region bounded by the parabola y2=x and the line y=x-2

1 1

47 a) If the curves ax?>+by?=1 and cx*+dy?=1 intersect each other orthogonally then show that% — - =>-—=(OR)

1
b c d
b) Verify (i) closure property (ii) commutative property (iii) associative property (iv) existence of identity (iv) existence of

inverse for the operation +s on Zs with table corresponding modulo

Kindly Send me your Answer Keys to email id - Padasalai.net@gmail.com


https://www.Padasalai.Net/

www.Padasalai.Net

Pl ‘4"/ .k"fh"l’mn» (" '~',""l’

www. Trbtnpsc.Com

1 S ;’//

e\ ‘:\ 1 "l ¥/ ]
i "'L/rv 4 ,’,'m/.. ‘I
]
Coh ‘
A ) ‘ l.""l ! /“, I V! " /H;’/
o 1 A
\ ; \ "“ E \ N ‘! " \4’ l(,‘,l:
pidia oy A ) o P
‘l ‘I l
| AN [0
i\ ‘
o A
. 9 A 'ﬂ TR AR A Y /v, i 3
[ y A " I
a nooo ."\." i, ' I,
) ) "ar
Gan ol T4
’ Wl o “u"?\l " "’//”
£ ¢ 2 \maginun Fongerd o b
(Y ) > . (B AL {
' \/ l{ o ' ,,// I { rn‘ )
A\ ' 3
[ TN AR
( A0
{ ]I,{"H/ “,/'I}‘
| PP |
o4, ( N > 3 1/ HIJ:
‘ : 4
\ . P .
I A by i ,’]' r ) ',"\ ;“’IV)' i)W
y -, A . \
e ) o '.I\ \ v
| ¢ & ' A ' A A
( A AN VA3 4K
/ Ya N 0 L |
I & f ._"‘ (\‘\ V() \\)y
{ , \
(7 .49 | \ .J) | (n.,\ ;\\V)- L
IR 4, 2 NERTERUADL
(9. b R T Y N N L
| T )re ]
‘; o AR Ao {)
i ; L8 0
I Ancoen WA T DN 30 26 f \/r'tf&uch LR ; —~
| DNOWET O oo EOGX 00
s ;- Yool ,
;,_ COMPuk \"“:?‘.‘1 l I- 4 nkben H\U\(l{l Af{nlv\ , Ap/)l.«‘r‘d
Vi e . y ) \ ‘,a() ’\'uh
E"' h \“f‘/’i‘h‘u: A ‘j‘f"‘"m("” ‘ ”(7”’ ' A Y -
| .”\n\ AN JARN rncd 90 }HI ”\(‘u,, P \, 1 &0
| S ~y - & "
i
f Lo L/‘H ‘,“““,g \ (‘h‘;; f\)’
i s ' . . ) ( X - [INIE3A) (f‘\ O t Qe
&“{{ \ (\‘(1‘ ,4) B ‘l“‘in (’ V(ll (‘h .\-/)L\,-\w' \/ "‘ ,"
{ 4 a - . - ’
‘ .\\‘/rmrw[,“.;(, i C\V BTy ol
> S, S — , B 3
- / N ( y N ¢ 7
22—+ as-b b7 Av = 4 ,(u,u[lu)(o-l)
i : - £
{ . P CEEEN o] - ) k)
VAyih if{" *,(,l t i : \/"! )X Ho'tt ¢m
A \n

Kindly Send me your Answer Keys to email id - Padasalai.net@gmail.com

\


https://www.Padasalai.Net/

www.Padasalai.Net

!

21 [ 22100 i Auswer 7 1 @oso 40 |
-0 d J 7 ®noho |
| D)
E ( m h/ m'Y/)’ /I)'np“/ﬂ,/)(d B 7{_3.——‘[
: ‘g ~X /‘ )() oA X (“‘ ) | :,’ ' ‘
, I 04 4 9 - ’ ’
i 7 [) —— OAA i
[ { \n) '
: ) l,' | Y /‘ | |
; ( 1+ (1-1)dy ?_“_,,,,; ) ’ r""’”( '
| N |
2 (3+u41)l 5 |y |
’“" )‘@X%xw, ) I $tad 5 “nr | [
S’x/xéfb,x*,.)ru ,«,4;30 AT A"f ’//I - 'aﬂ"/ | ) - lank |
f— = e |
‘i 2] 9 , “ T /a"" | /“rar? (rml [
| p- 2 L opes x J|
a G (A ’ y |
| T' tn A i
I n->x 7Y " -z 7—tl«n' ‘
| P(x=3 N p 9 N BT ) |
| o S8 | +tadx ,
= 9¢, ,3 & P > i unx + Gl 2.7 +)
. (t) /"‘) )4 b
' N +lewm | 4 fant x
St W73 3y3x3 ) - ,
= e rT
Erer)  Lopgru bry . Cos 2% = ShnaAC
270 Sinrr e
T = Rusg
e lo24 - Henta pvo«eJ
21. v - oo -
A B"(olol)‘/ 010132 2] =2
100, 100 ‘ol
100« . )
Iy Iz 454 [el4(>44
:(l L « 21 34y
| 00 ) - 5
— < 2
(ot s poot ' +er@ = =
z+ 2ty ;zl[zl- |3+ /
&an'%ffwfgle%m)’*T ) / Y
L >JJ~ - 5‘/ > 3
.‘ B - o
Lom / S\ o'y 2T |
\ol -4 - -;i;_/i‘_ﬁqllﬁ I
TP IV N L EE TR
.,/(, ) {'L Y '—/I
|4 T A
n t/~——1-—~—> N i 1 24 Siny < |
|t I x -
4 X :
P42 "’”’" """ =0 o < adSiny =2
-1 : !
~6< gy = | paduc,, T,
|+7 =0 g; = NY Ll by r:'j <re@
{oily- 6 /9: f),i'jl !
L CAdomean |- ".;.: g j
~+-Kindly Send me your Answer Keys to email id - Padasalai. net@gmall com

www. Trbtnpsc.Com



https://www.Padasalai.Net/

www.Padasalai.Net

www. Trbtnpsc.Com

n 5 “ -
e QABHE) = ARy 37 x Yt pestig oyt |
a9 RA)Y RN v )
2 b - 2
(a.a)b~(a ><\ R @ [
“\,ﬂ):o m - &‘C Y LUS[QQ,:{)>
)
Nn= - (d‘b alei4 Lj)l I
m =2 +f143¢)  (7-740) ST
Y = 1-e?
- ‘2."3':\7'3.-‘:_"3 )f bl(,~61):bl( ?—;2)
m= Beda2) )| b X
= 3+4t3=lo ‘j,:té:
o
, R B
35 AzLb P= 20+2b LL = 'l—c—L-—
. L i .
%P P-%;+zb 38. Y ~my 4+
) B42b i
= 2
l:ﬁ- —5 fj\: m 40 :}l:m
= ]
Pl a2 1)
,Qr:\@ Kb"‘ X*j’-’t—l? —j: Xm-p% -—Xm-'_r_l_
'JZ’)}*—D_ - 0 J o
L A =T - + —T-j-o
7
A= bT SoLuHon/_s
b= - —
) 3
- N P@uﬂ\“’(u'%dﬁ'?" P Y | PYY | 79| pvy v1g,
of o Givem s USWS T T T F T
- T F | T T T
26 Ulxy) = e Jeosax FlL T T || T
ulﬁz,ﬂ) :é-_zj['Q)S!‘nlx) T
~24 FF r & :
Uy x =€ (-2) (@) (tos22)
24 - pC) = 2l equd 4707 5% %3
| Uy 2 e 7(~2) oSz X A0 - PO = - x
| ~24 NO 8ign Changes  w Pex
= (-2 -2
Ugyy = (-2) (F) e “cosax o positive . 3
| Uy "'q?j’ —4 é)ﬂwg;ug PC*X) N _xa__ql7..7)¢5__ Sy -3¢
1 _ .
i + LQ‘QMC,DSJ.;( = 0 ! NO S;‘gn (,Ml\(%@ n P("Z)
: i ve Zenwos
| dunclim 0 R clealy 005 % -
2 uu’f( ore / % ., NO% /L\(,QQ/Q" D=
' | G-~
nNo - O T magnay Zaro$ =1-1-§

Kindly Send me your Answer Keys to email id - Padasalai.net@gmail.com



https://www.Padasalai.Net/

' www.Padasalai.Net www. Trbtnpsc.Com .

‘ﬁ AnSwey AH\MM
VIS

(‘a*l bon atoms
| 6 X = X}
Hy chojen Aloms

Ozﬁgrm a{SmS

2, = 125 +2Lr

4 0 O-j
@ +2 -2 -

E[BJ - |50~ O}o
oo -l |o
o2->""}o

?lB] 'R¢*>’Ql 0o~ |p

50-—{0 1)
0 2-2-1]p

Ré‘b2$ 4 0 0O -l (D
'__'> O 2 -2-l|o
5 0 -l 0| O
Ry S4R35A (4 0 0 -1
— O 2-2 -1 |0
© o -4 5|0
£(p) =P(A|B) = 3<4
Thﬂz»ﬁft&m b Consislent Gnd
hevs andinity o+ 0> Aoluchions.

=, ('5H8 + X2 0, —D

', — ~
Cos (Cosy < ' - T tos!
gll -X3=0 __C ( U)S[) Sind S’.Y\P) Lo

295 -XY3>-X4 =0 '—‘@ 9“3"[—’4‘@

+z \r—-’lrﬂ)
,qx=8_,>[so—loj[l‘ (4 )* L

3

b, 005,9( +(,o£)q +605\Iz T

08"y - (__ps"fj =p COS#Z:))
COLA = X

Xy WALy wsP-z
. N
g (o 3 + 714 /IJ O Sin o "{'"w

S;nf’f Fyl— S;n?:\]/.:'

z

Co¢! (s 4= ) = -9
Cos! (ry- i) = 7T - v
A TN
g AT

@

li]:o ;sz1‘+9,zd +Z = C l) 0

2
22 l),—:.l“'(j"x'('ly
Y4y t®

2 ey =

Yents P"’Vd ‘

4

!
hty z-1"3 23,

ws (o +2kn) f}x&in(o-f lzch

— |

'e IL:O)//l-—.
_ LD
Zo g HY 4y &in 2N 3
E 3
L=20,1/,2 .
koo

= (oSO 4 140 = |

kel zz wgl_gw’/s)'nl.ﬂ;

- TN v (FT
z = tog( ',s)w&)n('ﬁ L}l)

= - 43
2 N
l{—X]“zq :O} 2)(3.‘2'13‘1“{:0 k:l s 47’”+}4;'na,'37,.
] : g
[ +52, T0- YyoFk , = =
f 4% g 4 4 :w$(ﬁ+%}+’é‘m (IH-%)
'?(_3:(;%’ XQ_:Zf, ‘x.:ﬁ D
o 4 4 = L -3
b= b iz X2 2525 p Oe
7 s L3 )
9 e u/rv\tj\
7(4:“' ,Cwa GD‘\/Q 7 y J
| [V -3 2
— —_— 2D, e
Cs H +T02~> SCo, 4y, = o Pl

Kindly Send me your Answer Keys to email id - Padasalai.net@gmail com


https://www.Padasalai.Net/

www.Padasalai.Net www. Trbtnpsc.Com

e e i ————e.

N 9 ) ] N |
bj\l’('x,vs)- (24\ ' H 'k oy . 2 |
i b G e 30 osed |
Vi not ’\vmp{'}nmu AL ! (’,b’- f Py Q- TE ;A
. o V i 79
L) = Xty " ¢ , | |
Y4 L ];r\l)l)" “’f){f““"“l rﬁl/a[‘w
A ‘\nmv\l)“nmu P 6ot - 3 7/,/1(()(),
«,,-( [ ) { )('X)q ")) ( J ( ) - ,
‘\ W, ‘-’f( N \__._.,‘ /o ‘ ( . - - f’ 14 1ol 1 2_/‘/}/7:”1‘)
{- ( 2 .‘-\1‘) 'f X j:) l— ’ f - 0 Q ) P_ i
7 |
rF 0 [\Omca’fnmté 06 0‘7&4 W) = ¢ 50 3 !‘
p\“\ Ecu@_ﬂ/"‘S Tlﬂﬂ.ﬁ){_m j (IF) 2 J Q(TF) dx 4 . '

1_9__{"_1.3%_@ ) 'f[)((‘j)

(1

. 2 , %Y j'
Y in’x JBx Cosedty it 4|

%—Q:{) _¢V .32 e

Y Y ginty = 34- C
I’ ave-& 97 D\f e—- r “@ ¢ B
G904 (1207 ¢
aV x> 00
X 195 =1 e g dteminats ,gmm.
d4
DL }Dwveﬂﬂ Applyi L bopiral onde
_/ox3+9_1,1 2 0%+l oggP T'qb;a 84_;5 on Both s e
mb ealion Tjpe T €ven

) ) +2x E
Oh?)w' MOPMC""O Q%a(?‘m Q’Uﬁ A= Jin lﬂ"& fj 1

x>0 *

EJ,_L) (O(“_L)MJ _ L Lo 1322 _O_o)

, o0
D0 2 12,051 >

HB

= x+k g = x L L
9 ,7(4‘ - bm ,_‘_11 (bj L l-ﬂwﬂ
@'-})—105416:01 =z,
- i X [£
’ / N\ Bt y - bm |42 (0*9)

Y2 Joy 424 =0

(3,9 (q,q):o Yy=bovYcy -

J
.1 /A: el:\fg‘
Z‘_+J;L;5 14“1){:[’" &LL\‘
by 52 N '
j)(i_‘,l"(al;o xZI—tm:o D a - 341-(,4,7_%2 ,;) N 4

; > a -
1 lx 1 =0 L4+ = o -ér —yy- '7
x= 34"“’/ x;2+\\lf}/ P\/E‘) O~+f’@-=l-82) +gc P2
-~ N2 2 ~N3 -
2~ 2 ﬁ>.: 37;‘+ 6(1

P2 b bk )
govlhs are 5il\fz)li(’;' +Elw

+3( 3l —jaj‘-r 1)
|

|
Kindly Send me your Answer Keystoemail-ie—Padasalai-net@gmail.com

|
!
|
|



https://www.Padasalai.Net/

www.Padasalai.Net

amod e[y .
f’— \ f" ! \J(’Ml(o»,)’- ,L\- }_ ar k
-y = S ~ft\) b ) ’
Y - 0\‘ /(; ' \((‘ )) r o ﬁt__'ﬁ_ 9..}
.,\ ‘) “ 'fa«)
o (B4 bJ 210) -
/\ . ~
AR b
-4 -8 8 | =0, ¢ fe = |
3 =10 o0
‘ 2 2 2 2 ¢ Faor = '
LA 0 . e 42C 33 £L4C A
?,kf“\‘*b)m”)'&jCo}-Qﬁ) b 2 gC -l =D
A _ 16¢ + - ~lo
*J(O"l‘f)""'ﬂ(/-}Of-ﬂg?D | /B\
> ! A c= -5 s s 2|
P ) el iad | e e
+64})=0 Y > .
('%) 2 ! 2~ 3 4
? (3'4—6] 3—!—) ([o,+5)*_9'}')‘0 i s _é, i _}_ ’j:
'ﬁ’() 25 25 25 25 S 5
7. (1033 _8d) - (30 +Igm8) 0|
T ()ealpee) 232 by Mhan =23 fx) = I
\ e Eaey 9 41245 412
(ol ian Vecfor Lttt L —etE |
)014}-3‘:1‘&‘8’2:—32_. y, 3Q+ 9.5-}—5-9 -—Elfﬁ
ETY 25 25 S

2
4595 452 sbr— Py i8 =0

www. Trbtnpsc.Com

- h.b

Ill)
+3‘ T 9—7~§-éLf*+

NVarone ¢ X ’Hi) - C%’I*L)

| a(a2 4 —(Pasp)ie= o - AR RS
Q Cz{_ql‘*‘@"ﬂ') “L‘j%(»exﬁxy_% +7§.
=0 -
oL L ]
Q22 ~3b (Y4 Dpaspen| = —— + | 1360 gge 4y
1 2 25" 25 3
ﬂ(’){-l) = (9+3>: o’
/ e — ——
x 9 9 - )
/ 2 2 T = s8§ 23 _ 58s 59
- —@"’ﬂ) =/ > 5 2
(> 2> _ éé' : ‘2
TRA );olot — 2y
EQ\«G{LCL\,\L): C";"'D
eXatpr o 149=10 ¢=2Vie
Verices Cj:C\—FL\\k):(tI‘H,“Q
@’/ 3) Ch'”
fou = (2 c+h, )
= (tvio42, =3

Kindly Send me your Answer Keys to email id - Padasalai.net@gmail.com


https://www.Padasalai.Net/

www.Padasalai.Net www. Trbtnpsc.Com

e ‘n A — .
bay 241 = 24y- _ 52 o
A‘ 1 Vnﬂ- .,')' / \jl)" Yt 2 = (j? Yy~-2 20 ,
li' - —li— = "?—.-’0
| v, - Yo 2 ov - | /'\|
[ -
X2 Y+ D g ? |
Je (G- (") doy |
8l -0 Yt 2 = t" -
oy 2 27
I N
R A I = >
': S PY ‘
R O BN NI Y S S A
| © a 2 g
= :
b#&?\, Not (Pa.m“e( B 2“,—% +3 z6-3r2
~N 5 AN A :
C-% = =V+42 y
, 1A A :S'f'i’i/g?uw\é
L= = 23l > >
b rd = L L, @
2 (> " 2 —
oo, 1}7CI) A +by =1
@
2 2. —
= a (L ) (LaLl) | exady e
EYREeY b 12 ©-6 @ c)xl J”)OO_‘!’L'D
A 1) —C Ty & -
-kaI-—li "@
./l
- 3
=0 (B) () +E e artiis @ () +bPH. 2o
[t \ ay e
SRR M= Cx e
de by
e —2 <
cj—“\)' (/';XJ):":; = 9 E9[2+J/ﬂl2’:’)6611)+0l(7ﬂ);% 24
—2
~J-b-L ~\4 +v &y - .

4

Kindly Send me your Answer Keys to email id - Padasalai.net@gmail.com


https://www.Padasalai.Net/

P Www . Padasalai.Net www. Trbtnpsc.Com

e

b s

Ol ¥ | w|
Cl+l

O«FUJP}Q

S

P
(o

+.b L UMGme
L\ﬁm +5{rA b/)’)a/%:j

) e
"() a+§b: b'f'g—

L=
,g,ﬂmmé*}"'cpkﬂl\d entnes one
7€ hoo

’C,‘&A
i horve properkd .

< o™ ‘

f;;) @ +§b)+5‘ ¢ :d—‘*’&"f’f()

LMCHya) +4t = O + 4 73

RES 2+§(3+5%):2ﬁ-2
A

- T4 has é,;ﬁ&-ﬁ O eciahve

!

- {,},/ {
prepesy .!
! /

Kindly Send m“E‘YUUFAﬁSWGFKeyESIO.&maﬂjQ: Padasalai.net@gmail.com


https://www.Padasalai.Net/


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

